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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

The question paper is divided into two sections.

Attempt five questions in all, selecting three questions
from Section A and two questions from Section B.
All questions carry equal marks.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Simple calculator is permissible.
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relative demand for cloth in terms of wine given
38 Qu/Qu = PulBa

(i) Draw RS and RD curve and calculate the
equilibrium relative price of cloth in terms

of wine.

(ii) Explain the gains from trade in term of the

wage for Home.

(iii) Other things being same, assume that the
productivity of labour doubles in Home in
the wine sector. How do international
specialization and world equilibrium relative

price of cloth (Pc/Pw) change?  (4,3,3)

SECTION - A (b) Assume a world comprising of two countries Home

1. (a) Home and Foreign are the only two countries in a
hypothetical world economy and each of them has
only one factor of production labour which can
produce two goods: cloth and wine. Home has
3000 units of labour and Foreign has 6000 units of
labour. In Home one metre of cloth requires 3
hours of labour and one litre of wine production
requires 2 labour hours. In Foreign one metre of
cloth requires 5 hours of labour and one litre of
wine production requires 3 labour hours. World

and Foreign which can produce only one good using
a fixed factor land and another variable factor
labor. Let us assume that land labour ratio in home
is lower than in Foreign and markets are perfectly
competitive in both the countries. Labor is perfectly
mobile between the two countries. With the help
of a diagram explain the effects of costless
international mobility of labor on the wage rate

and world output. (5)
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(a) ‘A production subsidy is better policy than an

import tariff to address the domestic market

failure.” Explain with the help of suitable diagram.

(6)

(b) A country produces wheat using land and labour

and cloth can be produced using labour and capital.
The supply of land, labor and capital is given and
fixed. Labour can move across two sectors within
the economy. Draw production functions for each
sector, production possibility frontier for this
economy and explain allocation of labour across
two sectors. Assess the impact of an increase in
the relative price of cloth on the allocation of
labor between two sectors and effects on the

distribution of income among the three factors of
production. 9
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3. (a) In a 2x2x2 Hecksher-Ohlin model of international

trade explain the relevance of the one to one
correspondence between the relative price of
goods and relative price of factors. How this
relation relationship determines a correspondence
between relative price of goods and relative factor
intensities in the production of two goods? Explain

with suitable diagrams. 9
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(b) With the help of production possibility curve

1sovalue lines and indifference curves explain the
derivation of relative supply (RS). Using relative
demand and relative supply curves show the

welfare effects for a country from an improvement
in the terms of trade. (6)

(%) siwrdty =mr & 2X2x2 B3R - MEAT ey A

aagaﬁﬁm&aﬁwaaﬁrmﬁaﬁmﬁaaﬁwa%ﬁa
Th U (one to one) qETERIAT H g o)
Wﬁlwaﬁae‘ra@aﬁ%mﬁa@aﬁ%
m&awsﬁzmﬂammnma‘:ﬁawm
ﬁu‘fﬁamé?waﬁ@'%mm&ﬁi

(@) aaﬁamw,maq#mwaﬁrm—aﬁwhmﬁ

ﬁm%m&agﬁwmaﬁmaﬁw
aﬁfﬁﬁnmﬁawﬁraﬁraﬁazﬁaﬁmmm
ngﬁmﬁ#gmﬁﬁwwéw%ﬁv
FATHE T ey |

a
(a) The demand and supply curves for kiwifruits for

Home and Foreign (asterisked) are given by :

.4 17 8
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Demand and supply curves
D =200 - 4P
Home S=80+P
} D =250-3P
Foreign
* =150+ 2P

(i) Under free trade between Home and
Foreign find the world equilibrium price of

kiwifruit and pattern of trade.

(ii) Calculate the net welfare effect of a
specific tariff at the rate of 2 per unit on

the import of kiwifruit imposed by Home.

(iii) Beginning from part (i) calculate the net
welfare effect of a specific export subsidy

at the rate of 2 per unit on the export of TE B R Bl faftre T & IE FHemr
kiwifruit imposed by Foreign. T FE O g
(iv) Calculate the rate of prohibitive specific (ifi) s (i) & TE T TRY B 3
tariff at which Home’s import demand Fale w2 uiy L SR ﬁﬁ‘ié'ma _
becomes zero. (3.3,3.3) afsad e W & o ate
Exdl i A

(b) Show the difference between ‘Optimum tariff’ and

‘Prohibitive tariff’ in terms of their effect on

(iV)ﬁﬁEﬁﬁrQ‘ma%Waaﬁmﬁm

national welfare. 3)

P.1.0.
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g wgesw’ & 99 AR REw | switching Policies in correcting internal and
external imbalances under the Bretton Woods
5. Write short notes : system. (6)
(a) Effective rate of protection (%) SKE-vT 3R TR Tl B wEEar ¥ vE sty
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(b) Comparative advantage in Intertemporal trade

(c¢) Leontief Paradox (5,5,5)
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(@) ol 7. (a) The balance sheet of the central bank of Moorland
| is given below :
(w) fafew R
Balance Sheet of the Central Bank of Moorland
o If:sset (Rupees Billion) Liability (Rupees Billion)
HIT omestic Assets | 1500 Deposits held by the Private banks | 2500
SECTION - B Foreign Assets | 2500 Currency in Circulation 1500
Total Assets 4000 Total Liabilities 4000

6. (a) With the help of DD-AA and XX schedules explain

the effects of monetary and fiscal interventions Explain the effects on money supply and changes

both temporary and permanent in an economy on In composition of the balance sheet of the central

current account. 9) bank of Moorland :

| el @
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(1) Non sterilized purchase of foreign' assets

worth 500 billion rupees.

(i) Sterilized sale of foreign assets worth 500

billion rupees. (3)

(b) Examine the effectiveness of sterilized sale of

foreign assets under imperfect asset substitutability.

Draw suitable diagram. (7)

(c) Does the unregulated nature of a global banking
activity leave the world financial system vulnerable
to bank failure? If yes, what measures have

governments taken to reduce it? (5)
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8. Write short notes :
(i) Interest parity condition
(i) Financial Trilemma

(iii) Liquidity trap in DD-AA model {5,5.5)

agﬁ‘m"ﬁf?ﬂ%':

(i) =t A
P.1.0.
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